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. T‘ﬁﬁf’l*ﬁ A4 AR
(BEER) | B¥ AA
—#R1ER
XE ([&BCe) | KEBCC) | HMEUKE | FiR =i BR
47 = 17.2 13.1 =IE BE meE |
68 i 27.0 19.5 =IE BE me mR
8H = 29.0 215 =IE BE |meE |
108 = 23.0 21.0 =IE BE me |mR
128 i 13.5 135 =IE BE i) mR
2B = 9.0 9.5 =B B m e
4 ERSIEE 3
oH DO BOD SS KEEHK
(mg/) (mg/1) (mg/l) | (MPN/100ml)
=%(E| 6.5~85] 75LLE | 1.0LLF | 25LLF 50LLF
EHE(75%1E) - 9.5 0.6(0.6) 1 200
48] 76 10 0.6 2 0
64 15 9.0 0.7 2 9
8A|l 74 8.6 <05 <1 75
10A] 75 8.7 0.5 <1 1100
128 74 9.9 <05 1 0
2A] 716 11 <05 <1 4
BEEE
NI INESD S £ ANEvaL| WME fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] 0.01LLF | JE4H | 0.01LLF | 0.05LLF [ 0.01ELF | 0.0005LLF
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
oo0nd .o .e | 1,.2-000 [1,1-o5an|YA-1,2->/a(1,1,1-r)50
PCB 5 bR A 3 axs | TFLy NTFLY RIS
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eEiE] JERE [0.028LF | 0.002LLF | 0.004LLF | 0.02ELF | 0.04LLF 1LUF
ElE[ <0.0005 [ <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
108] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
12| <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [FUZAAFrSHY00I| 1,3-290A — . —sen FARA
noTsy | TFLY | FLr  |aFaKky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B {E]0.006 L | 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF 0.02LLF
EfE[ <0.0006 [ <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2A - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
SEH{E]  <0.001 <0.001 0.20 0.2 <0.1
4H] <o0.001 <0.001 0.20 <0.1 <0.1
6A] <0.001 <0.001 0.17 0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.22 0.3 <0.1
12H] <0.001 <0.001 0.21 0.1 <0.1
2R - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2@; | soods | LRIV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.26 0.034 <0.04 <0.005 <0.001 <0.008
4A - 0.26 0.036 <0.04 <0.005 <0.001 <0.008
6H - 0.23 0.026 <0.04 <0.005 <0.001 <0.008
8H - 0.21 0.028 <0.04 <0.005 - -
108 - 0.24 0.059 <0.04 <0.005 <0.001 <0.008
128 - 0.28 0.023 <004 | <0005 <0001 <0008
28 - 0.33 0.029 <004 | <0.005 - -
BiLH HIHERTE | U BRM ; = i S
IT/=N| kS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 28 1.2 0.01 0.02 - 50
4H| <0.02 26 1.7 <0.01 0.01 - 6
6A] <0.02 2] 1.2 0.01 0.02 - 60
8A - - 1.2 - 0.02 - 50
10H]| <0.02 20 0.9 0.02 0.02 - 60
12H]| <0.02 37 1.4 <0.01 0.02 - 70
28 - — 1.0 — 0.02 — 70




TERR19EE

o 5 JIBE4E | A4 AR
(BER) | #® A
— g8 B
XE ([&BCe) | KEBCC) | HMEUKE | FiR =i BR
48 = 16.0 145 == BE me mR
6 A i 27.0 205 =E BE ) mE
8H = 29.0 215 =IE BE me mR
108 = 23.0 215 =IE BE me mR
128 5 13.5 15.0 =IE BE me mR
2| = 9.0 10.5 RE B EE ma
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.5 <0.5(0.5) i 2100
48] 74 10 <05 <1 200
6A|l 13 9.3 <0.5 <1 75
8A|l 13 9.0 <0.5 4 240
10A] 73 8.8 <05 <1 11000
128 7.2 9.8 <05 <1 1100
2A] 715 10 <05 <1 23
RBEIER
NS INESS & E AfivnL| #ME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEE] 0.01LLF | JE4H | 0.01LLF | 0.05LLF [ 0.01ELF | 0.0005LLF JERH
EH <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SoanA .. | 1,2-550 [11-Ssan[SZ-1,2-S5a]1,1,1-k)o0
PCB 5 bR Ak 3 axs | 7oy A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] ERE [0.02LLF ] 0.002LLF | 0.004LLF [ 0.02LLF | 0.04LLF 1LF
SE{E] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6| <0.0005 [ <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8A - - - - - - -
10A] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-ky4 [FUZAARFrSHY00x| 1,3-290A = s st FARUAH
aaIsy | TFLY FLY oroxy Fo5L P 2% %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (5] 0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6B| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAEE] 001LLTF 1001LLF| 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.34 0.3 <0.1
4H] <o0.001 <0.001 0.33 0.2 <0.1
6A] <0.001 <0.001 0.29 0.4 <0.1
8H - - - - -
10H] <0.001 <0.001 0.35 0.3 <0.1
12H] <0.001 <0.001 0.39 0.4 <0.1
2H - - - - -
EDHIEE
N SR | 28 @ | 2@E® | sanfus [TV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.36 0.019 <0.04 <0.005 <0.001 <0.008
4A - 0.38 0.016 <0.04 <0.005 <0.001 <0.008
64 - 0.31 0.013 <0.04 <0.005 <0.001 <0.008
8A - 0.26 0.014 <0.04 <0.005 - -
10A - 0.36 0.051 <0.04 <0.005 <0.001 <0.008
124 - 0.40 0.009 <0.04 <0.005 <0.001 <0.008
28 - 0.47 0.012 <0.04 <0.005 — —
BiLH HAHERYE | UURR ; = i S
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EHE]  <0.02 13 0.7 0.02 0.01 - 80
4H| <0.02 10 <0.5 <0.01 <0.01 - 8
6A] <0.02 13 0.8 0.01 0.01 - 90
8A - - 1.0 - 0.01 - 70
10H]| <0.02 12 0.8 0.03 0.01 - 80
12H]| <0.02 17 0.5 <0.01 <0.01 - 100
28 - - <0.5 - 0.01 - 100




